150 9001: 2015 GENERAL STUDIES - 2018 (ENGLISH)

TNPSC - GROUP 2

ECONOMICS
1.  Identify the mismatch:
(A) White revolution - Milk
(B) Green revolution - Food Grains
(C) Blue revolution - Fish
(D) Yellow revolution - Flowers
2. National Agricultural policy aims at a growth rate of % per year.
(A) 3% (B) 4% (C) 6% (D) 8%
3. World’s First block chain bond was launched by
(A) Reserve Bank of India (B) World Bank
(C) Hong Kong Bank (D) State Bank of India
4. The Concept of Goods and Services Tax (GST) was originated from
(A) Canada (B) USA (C) Britain (D) Germany
5. When was the “Industrial finance Corporation of India” established in india?
(A) January 1,1950 (B) July 1, 1948
(C) June 5, 1951 (D) May 1, 1950
6. Which is the biggest nationalized enterprise?
(A) Bharat Sanchar Nigam Limited (B) Indian Post Department
(O) Indian Railways (D) oil and natural Gas Commission
7. Which of the following agricultural commoditiy of India gives largest interms of export value?
(A) Tea (B) Basmathi Rice
(C) Spices (D) Cotton
8. According to 2018 — 2019 budget report, India is at third rank in
(A) Purchasing Power Parity (PPP)
(B) Gross Domestic Product (GDP)
(C) Agricultural Production
(D) Foreign Direct Investment (FDI)
9. Which Currency is recently added in the currency basket of IMF?
(A) Japanese yen (B) Chinese yuan
(C) Indian Rupee (D) Brazilian Dollar
10. As per 2011 census the total urban population in the state of Tamil Nadu is

(A) 27.48 million (B) 34.95 million (C) 36.04 million (D)42.50 million
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